## City of Scottsbluff, Nebraska

Tuesday, February 20, 2024 Regular Meeting

## Item Bids2

Council to discuss and consider action on awarding the bid for the construction of the 20th Street Improvements-Cleveland Field to 17th Avenue-Mill & Overlay to Simon Contractors in the amount of \$2,740,000.

**Staff Contact: Mark Bohl, Public Works Director** 

## Agenda Statement

Item No.

For Meeting of: \_'February 20, 2024

AGENDA TITLE: Consideration of bid for 20th Street Improvements - Mill and Overlay and award bid.

SUBMITTED BY DEPARTMENT/ORGANIZATION: Transportation Department

PRESENTATION BY: Mark Bohl, Director of Public Works

SUMMARY EXPLANATION: One bid was received on February 5, 2024 at 1:30 P.M. for the 20th Street Improvements – Mill and Overlay from Cleveland Field to 17th Ave. from Simon Contractors in the amount of \$2,740,000.00. Please see attached letter from MCS Engineering Firm to review and explain the received bid.

BOARD/COMM	ISSION/STAFF RE	COMMENDATION:S	Simon Contractors	S
Does this item	require the expen	diture of funds?	Xyes _	no
Are funds budgeted?		Xyes _	no	
If no, comment				
Estimated Amo		\$2,740,000.00		
Amount Budge		\$2,422,950.00		
Department		Transportation		
Account Descr	nt DescriptionStreet Projects			
A	. da available			
Approval of fur	ids available	City Finance Director		
		5.1. <b>,</b> 1		
		<b>EXHIBITS</b>		
Resolution	Ordinance	Contract	Minutes □	Plan/Map □
011 ( ''')	V =	A I D' I Ob		
Other (specify)	X Engineers Le	ter and Bid Sheet		
NOTIFICATION	LIST: Yes I No	☐ Further Instructions	П	
		equired for notification.		
i icase iist iiairie	25 and addicescs i	equired for flotification.		
APPROVAL FO	R SUBMITTAL: _			
		City Manager		

## providing Simply Smart Solutions

www.MCSfamilyofcompanies.com

February 6, 2024

Honorable Mayor and City Council City of Scottsbluff 2525 Circle Drive Scottsbluff, NE 69361

RE:

20th Street Improvements – Cleveland Field to 17th Ave – Mill & Overlay

Dear Mayor and City Council:

Bids were received and opened at 1:30 p.m. on February 5, 2024 at City Hall in Scottsbluff, Nebraska for the above referenced project. A total of one (1) bid was received. The bid tab is attached for your review. The bid received was as follows:

	<u>Total Bid</u>				
Simon Contractors	\$2,740,000.00				
Engineer's Estimate	\$2,433,875.00				

Simon Contractors bid is approximately 12.5% higher than the Engineer's Estimate. This increase is due to increased material costs and higher than anticipated traffic control costs. We have reviewed the contractor's bid documents and relevant project experience. Based upon a review of these items we would recommend award of the project to Simon Contractors in the amount of \$2,740.000.00. The anticipated completion date of the project is October 1, 2024.

Sincerely,

FOR THE FIRM OF M.C. SCHAFF & ASSOCIATES, INC.

Donald J. Dye, P.E.

Ondd 1 gr

20th Street - Cleveland Field to 17th Ave - Mill & Overlay City of Scottsbluff				Simon Contractors			Engineer's Estimate				
No.	Olli		t Quantity	Unit Cost		Total		Unit Cost		Total	
1	Mobilization	LS	1	\$	190,000.00	\$	190,000.00	S	200,000,00	\$	200,000.0
2	Traffic Control & Safety	LS	1	\$	299,950.00	\$	299.950.00	\$	150.000.00	S	150,000.0
3	Cold Milling - Class 3, 3/4" Uniform Depth	SY	20750	\$	6.30	\$	130,725.00	\$	8.00	S	166,000.0
4	Cold Milling - Class 3, 2" Uniform Depth	SY	4750	\$	17.00	\$	80.750.00	S	15.00	S	71,250.0
5	Cold Milling - Class 3, Inlay Milling	SY	4750	\$	15.00	\$	71,250.00	S	12.00	S	57,000.0
6	Cold Milling -Class 5, 3/4" to 2" Tapered in 8 feet	SY	17750	\$	8.00	\$	142,000.00	_	10.00	_	177,500.0
7	Non-Woven Pavement Overlay Fabric	SY	48000	\$	6.50	S	312,000.00	_	6.00	_	288.000.0
8	Asphalt Concrete, Type SPR w/PG58V-34 Binder	SY	48000	\$	21.00	S	1,008,000.00	-	18.00	\$	864.000.0
9	Asphalt Concrete for Patching, SPR w/Binder	TONS	400	S	300.00	S	The state of the s	\$	300.00	\$	120,000.0
10	Adjust Existing Manhole to Grade	EA	70	\$	1,900.00	\$	133,000.00	_	1,500.00	-	105.000.0
11	Adjust Existing Valve Box to Grade	EA	9	\$	1,700.00	\$		S	1,000.00	\$	9,000.0
12	4-Inch Preformed Pavement Marking (Yellow)	LF	16750	S	8.30	S	139,025.00	_	7.50	S	125.625.0
13	6-Inch Preformed Pavement Marking (White)	LF	1500	S	10.00	S	15,000.00	_	9.00	S	13.500.0
14	24-Inch Preformed Pavement Marking (White)	LF	1000	\$	38.00	\$	-	\$	40.00	\$	40,000.00
15	Railroad Symbol, Preformed Pavement Marking (White)	EA	2	\$	3.800.00	\$		\$	1.500.00	S	3,000.00
16	Turn Arrow, Preformed Pavement Marking (White)	EA	44	\$	850.00	\$	37,400.00	_	1,000.00	S	44,000.00
Total Items 1-16 \$ 2,740,000.00							_	.,500.00	\$	2,433,875.00	